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Mini Kangaroo Competition 2022 o7 A
st grade ~

A-1

202220222022202220220022202220222022

How many times does it say 20227

7 times 9 times 8 times 10 times 11 times

A-2

There are a total of 15 balls in three boxes. There are 2 balls in one box. There
are 7 balls in one box.

87 13| 6|3

How many balls are in the third box?

A-3

& iaorlooh
R

The kangaroo builds a train. It always hangs wagons with 2191115

the same numbers on them.

What numiber does the train end with when all the wagons are attached?



2

A-4

From a board of length 15 m, 2 m are sawn off at both

ends. How long is the board now? |

oOm 13 m 19m 15m 1Tm 15 m

B-1

Every year there is a Mini Kangaroo Competition. This year, in 2022, the 18th Mini
Kangaroo Competition will take place.

In which year will the 20th Mini Kangaroo Competition take place?

2030 | 2023 | 2025 | 2018 | 2024

B-2

The kangaroo buys apples, pears and fomatoes - a total of 15. It buys 3 pears
and 2 apples more than pears.

How many tomatoes does the kangaroo 110157 ]3

buy?

B-3

Kangaroo and Panda are 12 years old together. Kangaroo is 5 years old.

How many years older is Panda”?




B-4

How many gray squares are completely covered?

C-1
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The kangaroo has many idenftical building blocks. He puts them in the box. If a
building block does not fit, he turns it. He packs the box completely full.

How many building block fit into the box?

81647110

C-2
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The kangaroo has 1ct coins, 5¢t coins and 10ct coins. It does not get any money
back.

What price can it pay with the fewest coins?

17 ct 4 ct 14 ct 21 ct 8 ct
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Which picture shows two times as many flowers as birds?

Al B|C|D]|E

C-4

X+X+X>12

What is the smallest number you have to use for x?

716131415




